XN31202 PLL

XN31202 520MHz PLL XN31202
64/66 PFD
CMOS 16-SSOP
(CK, DATA, STB)

. Icc = 11mA @ 3.0V
. 2.0 5.5V ( 100MHz 520MHz )
. 64 / 66
+ SSOP 16
XN31202 16-SSOP 40 85

i
I
=

i it ‘:I.[‘
CPr GHIT b \f AT ouT BO
FHASE
COMPARATOR PMITCH 'EEE"
¥ : BLFFER
FRCEERAMMAELE
REFEREMNLCE
DIVICER VIR
FROZRAMMAELE 1
DIYICER .
—  — CONTRGY, CRCLIT
PHASE
O A RATOR LOCK DETECTOR
Wil | o, MO ..,J,~h LG LK Data e iTh
'\_3_.1' -Lﬂ_..- 5 \.;.I \.;.I =ty
- CPLU
—_—
i— vrr




XN31202 PLL

N
it 1] ® 16] fin2
Vee E EI Vece
CP1[3] 14] CP2
GND [4] 13] GND
XN31202
LD [5] 12] sw
CK [6] 11] Xin
DATA [7] 10] Xout
STB [8] 9] BO
1 fing 1 RF
15 | Ve 2 15
3 CP1 1
13 | GND 4 13
5 LD
6 CK
7 DATA
8 STB
9 BO CMOS
10 Xout
11 Xin
12 sw
14 CP2 2
16 fin2 2 RF
Vee 6 v
Po 560 mw
Ta 40 85
Ts 55 150




XN31202 PLL

Vec =3V Ta=25

Vee | Ta= 40 85 2.0 — 5.5 Vv
lec | fin - - 15 mA
lss - - 10 A
fin far | Ve = 93dBpV 100 — 520 | MHz
fne | Vine = 93dBpV 100 — 520 | MHz
fin Vint | fne = 100 ~ 520MHz 93 - 107 | dBpV
Vinz | fine = 100 ~ 520MHz 93 - 107 | dBpV
Xin fu | Via=0.5Vp p 5 — 25 MHz
Xin Vy | fx = 21.25MHz 102 - 112 | dBpV
Vip | Vee=2.0 5.5V Vee— | - - Vv
(CK,DATA,STB) 0.4
Vii | Vec=2.0 5.5V - - 0.4 Vv
(CK,DATA,STB)
lcp1 | CP1=0 CP2=0 Vep=15V | - | +£100 | -- LA
lepz | CP1=1 CP2=0 Vep=15V | - | £200 | -- LA
leps | CP1=0 CP2=1 Vep=15V | - | +400 | -- A
lcpa | CP1=1 CP2=1 Vep=15V| - | +800 | -- A
lepL Vep=1.5V -1 - 1 7y
Vce=2.5V 55V V=93 ~107dBu V Fin1=Fin2=100MHz 800MHz
CK(6 ) DATA(7 ) STB(8 ) MCU LSB
MSB 1 CH1 CH2
DATA
STB CK DATA
STB
1. XN31202 MCU CLK DATA STB
2. R N1 N2
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XN31202 PLL
XN31202 1
1
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1 0 2 N
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CH1 CH2 MSBT
T | cp|cp1|cpe| sB1|cp1| crz| sB2|sBR| LD1| LD2| sw Gg’z‘eg,l
2
2
Bit1 Bit2 Bit3 Bit4 Bit5 Bit6 Bit7
T cp cP1 CcP2 SB1 cP1 cP2
1 1 1 2 2
Bit8 Bit9 Bit10 Bit11 Bit12 Bit13 Bit14
SB2 SBR LD1 LD2 SW GC2 GC1
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XN31202 PLL
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(CP1, CP2)
XN31202 “CP1”  “CP2”
CP1 CP2
0 0 + 100u A
0 1 + 200u A
1 0 + 400u A
1 1 + 800p A
(T, LD1, LD2)
T="0 LD (5 ) “ SB1” “ SB2" “ LD1” *“ LD2
T=1"
4
4
T SB1 SB2 LD1 LD2 LD
0 0 0
0 0 1 2 LD
1 0 1 LD
0 1 1 1 2 LD
0 0 0
1 0 1 1
1 0 1 LD
1 1 1 LD
0 0 0 0
0 0 1 2 LD
1 0 1
1 1 1 2 LD
0 0 0
1 0 1 1
1 0 1
1 1 1




XN31202 PLL
T LD(5 ) “ Q0 LD ‘17
LD “ 17 2/fosc LD
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SB1 SB2 SBR SB1 SB2
2 SBR 5
5 SB31202
SB1 SB2 SBR CH1 CH2 REF
0 0 X ON ON ON
0 1 X ON OFF ON CH1
1 0 X OFF ON ON CH2
1 1 0 OFF OFF ON REF
1 1 1 OFF OFF OFF
(SW)
“ SW” SW SW
13 SWH
“ SW” 6
LPF SW LPF 4
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XN31202 PLL
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1
(Xin, Xout) (BO)
Xin Xout BO 5 C1,C2,C3, C4
BO 9 CMOS
6
ca
C3 1000 pF
Xin T I | > Xin
C1 c2
Xout T H Xout
1000pF 1000 pF
BO —o BO
5 6
2 12 R
6 8190 7
rLSB MSE;—i
R1|R2|R3| Ra|R5|R6 | R7| R8| R |R10| R11|R12[FC2 (iff
7
R=R1x 2%+ R2x 2"+  +R12x 2"
2x R=2x (3~4095)=6 8190
R LSB 7
7 R
R12 | R11 | R10 | R9 | R8 | R7 | R6 | R5 | R4 | R3 | R2 | R1
3 0 0 0 0 0 0 0 0 0 0 1 1
4 0 0 0 0 0 0 0 0 0 1 0 0
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XN31202 PLL

) 21.25MHz 25kHz
( 12.5kHz)
21.25 MHz= 12.5 kHz = 1700
1700 = 2x R
R = (850)10 = (1101010010),
L=R D
DENONononnonnn
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1 2 N 5 A 5 12
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12 N
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8 N
5 A

A=A0x 2° A1x 2 Adx 2*

0 31 B=A

8 5 A
A A4 A3 A2 A1 A0
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0 0 1
31 1 1 1 1 1
12 B

B=D0x 2° D1x 2' D2x 2 D11x 2"

3 4095

N LSB

8 12 B
(B) |D11 |D10| D9 | D8 | D7 | D6 | D5 | D4 | D3 | D2 | D1 | DO
3 0 0 0 0 0 0 0 0 0 0 1
4 0 0 0 0 0 0 0 0 0 1 0 0
4095 1 1 1 1 1 1 1 1 1 1 1
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XN31202 PLL

) fin1 453 MHz 25 kHz
( 12.5 kHz)
453 MHz+ 12.5kHz = 36240 N=2x (32x B A)=36240 32x B A =18120
N = 18120+ 32 =566.25 A=0.25x 32=8
4B = (566)10 = (1000110110), A = (8)0 = (01000),

L=
p(ojofr oot | fe|lv]1|fa|o|e|r|0of0)1]0D
) fin2 462.9 MHz 25 kHz

( 12.5 kHz)
462.9 MHz+ 12.5 kHz = 37032 N=2x (32x B A)=37032 32x B A=18516
N = 18516+ 32 = 578.625 A =0.625x 32 =20

4B = (578)10 = (1001000010), A = (20)4o = (10100),
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XN31202 PLL
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XN31202
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